A R OF10£]1] 0 R B L

= % #EB | o (30§
PRIEY| &  m |23 i¥E BlE- | ®E= 2 kE | = a | 4 | 2| 2n | 2%
[ Il e Sl S M“%“ R R |PPAEE AFB L okE ffdesm | 923) 130 | 36 | 27
2 | = | AER sl k| HEw | pE2AD BLFE FERCE BLoks HmEl [ 881] 96 | 42 | 37
3] = | ke [REAS| abmres | ks PLgE¥] e R |BLoks| A9 [ 897) 82 | 45 | 43
4= HA Kk [ A A EBlk (L EE AFTE O |ELRE PAMAE| 938 132 | 40 31
5 | 7 | 3 kaEw Pr® FAR AP B 2ok ApE [ 851 97 | 31 [ 36
8| - | bre 2w e e | gRx |WiEy sewd ook cgw [ 857]102] 33 | 33
9 | = | #efey WA AR gE | PHCe P2 EEE Rtk @ P4k v MEEEH | 886 | 90 | 35 | 34
10 | = B AL ek AR TP 4 | BRSO L EE L AN ER PFLokE c/,cm#ﬁ 879 | 98 37 36
1] = | ol WA wprbp | 3AYF LR EAE  [FLok% 2@ [ 895 128 | 30 | 23
12] 7 P VR B S RS PR PafEe | 910 | 122 35 | 29
5] - PR WA ApR et |EoEE B EEE ELsok% 13y 886 93 | 44 | 4l
16 = | Admpaps (Wi wame | Fuss5|msEgE A ARE |FLoks #s%e7 864 98 | 35 | 32
17| = s REF AR AR W | BRI LEE FLF [FLRE s AF AW | 667 104 24 20
18| = BOAA [ A FERGE | AR AR WL ER AR Ak FgE | 916 106 | 37 | 29
19 1 | &FFRiEtp AR SR R EE sk w898 96 | 27 | 32
22| - | AL A WEKARIR AR | AR B ER Bickio |FL k% FRRE | 906 97 | 45 | 38
23 | = BAE Rk A frrerp | RdER |PLER] FEE [FAkE FEas | 875 87 | 42 | 40
24| = 1"*’%‘? Btk DA |l g Bl e |PFA R iR P kE| Bk [ 872 128 | 34 | 30
25 | w | EFRAH |RAGABEwR| fivd |PLEE M #EE 4ok fd | 859 | 83 | 42 | 40
6] 1 518 v Rk~ R R prsokw| 2 p 3k [868] 94 | 37 | 35
20 | - | LmEE -2 [RkAR| R | T AT U RS ,t,,;: LERE R [P L ok e r aap | 904 89 | 43 | 29
30| = B RN A DER | R E XN R4 FETHE |FL k%SS4 5p| 853 128 | 26 93
AF- =@ *’C-*?‘& HHEFCASE R T 2 HEZORABLY g\;g L
eFE R LA A TS 2 F R LSRR §F A Ed L R
1

% B4 K3

-\1\«

HoRRw




